691S

c6ls

¢6ls

¥61S

G6ls

961s

L61S

¢0¢s 10¢s

¢0¢s

G0¢s
¥0¢S

90¢s

LOCS

80¢s

60¢s

Lics 0l1¢s

cles

nunsALIN

S

1 OOV N 0| 0|8
2 OO | 0| Ol | NI N|Q
— | O(M | =] O |40 |47 5
g rm = OO | =19 QO =
e GO Z |l x| =] =
~ | 22| =D |>=|>=||T
O % = o
O Flo|l=zlo|4all& 1:100
g O ~ | =|=|™T||= 2
f = S| > |22
N > | © rr R
M| On > | & ||N =
|| F =] <
= =< | > | U
r~ -y ~ —
= C | =Z
’ N v
= ~J
r~ =)
— o
o
3
>
o
3
& 0.00 178.00 | studnia #1.2m, Rz.d.=175.71 N
—_— @
- 2.29| 175.71 b
o o0 kabel energ.
N
S
38
N
©
(@)
Q w
20.00 3 2.13[176.07]178.20] studnia $0.400m _ _ —
N %e)
A No
N
R
5
8
~
o
(@)
S %)
66.00 3 2.12(177.54]179.66 | studnia #1.2m e =
N S
()}
¢
&
3
4
o~
©
(&
S v
115.50 3 2.11]1178.831180.94 [ studnia #1.2m T
N 1%
-] N
N
O
O
N )
on <
© )
—
Il
N
137.00 (@)) 2.141179.26| 181.40[tr6jnik_200/160
N
@)
=
N
~
3
161.50 2.15|179.75 181.90] tréjnik _200/160
— &)
o »
o €
S o
< 1%
171.50 3 2.16]1179.95] 182.11[studnia #1.2m ——
N RN
o~
(@)
o X
179.50|8 2.16] 180.15| 182.31|kabel telek., Rz.0.=181.70
184.50 2.16(180.27| 182.43 | tréjnik 200/160
[
187.50(8 2.16]180.34| 182.50 | trdjnik 200/160
-‘g wod. przyf., Rz.0.=181.27
190.50| & 2.17] 180.41{182.58 [trdjnik_200/160 +
-cn R
wn
197.00|° 2.16]1180.57]182.73 [kabel energ., Rz.0.=181.90
199.00 2.16/180.62 182.78 trsjnik_200/160 =
& wod. przyf. 850
o g zainwent.rz.osi.wodoc.
204.50 ° 2.16]180.76 | 182.92 | tréjnik_200/160
o
207.50|S 2.16[180.83| 182.99|trjnik 200/160
©
213.50|8 2.161180.98| 183.14 [kabel telek., Rz.0.=182.53
217.00] . 2.16] 181.06| 183.22 | tréjnik_200/160
218.50 & 2.16] 181.10] 183.26[trdjnik 200/160
221.50( o 2.16| 181.17]183.33[wod. przyt. 850
o o zainwent.rz.osi wodoc
© o
226.50 o 216 181.30| 183.46 | tréjnik 200/160
« o ‘
229.50(8 3 2.16] 181.37]183.53 [ studnia #1.2m ——————
N ]
. N
8
237.50 2.161 181.53| 183.69 | tréjnik 200/160
b
241.50 3 2.16] 181.61|183.77 |tréjnik 200/160 ‘
wod. przyf. 850
g zainwent.rz.osi.wodoc.
o
247.50 216 181.73| 183.89 | trjnik 200/160
N
251.50 g 2.16| 181.81{ 183.97 | kabel telek., Rz.0.=183.63
253.50 2.161 181.85| 184.01|trdjnik 200/160
N
© N
8 o \
o
262.50 3 2.15[182.03| 184.18 [studnia #1.2m 7
g 35| s2¢| 833 £
3 28| 27Z| 953
s T3 &%
g | 3%
é' 1]
| i g 53 B+
1sf| 28 | &
by o S Q. N & =
° 3 | g2 82 X
s 2| SE| &3 g
H N 23 g2 =5z
2 @ o N = Q —E 8
< 20 @9 S0 e
@ zg 03 £SE
g T8 e EZ?
5 2| 28 |=7F
3 S g2 g
5. ruf:%
: ¢ |2¥%
8 g 3°
g ) g
E b

Cles




